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Promiscuity is not prevalent — NIow XY NIIT

OVERVIEW

The X3 explains that 5" does not agree with >3 that the reason the 051 were
1T PN by 1 is because of 79 Xnw, since "1 maintains that M is not X°ow.
Our mooin qualifies this statement that Xr2ow X7 Mar.

— PPAY XY TANINNAY BY1¥a ;AT WIS
The explanation of the phrase Xm>w X2 nur is that nur with 2°7p and 789057,

which will lead to a 70 211, is not 199% (and therefore no 7ipn will be made out of

concern for this type of mar) -
— NV NI MIT DIYT 9129135 S¥a NY DaN

However, the X713 did not mean to say that any type of Mzt is not 7w (and

therefore no 71pn should be made out of concern for any type of nur) —
— Y291 D NRYI NDINA NANY NPN (x,2 97 MAND Y93 XNY

For in the beginning of n131n> n>on the mwn teaches that the o1 instituted that

a 79102 should marry on the fourth day (Wednesday) -

— NI SPIRY 192WUNT 1T 1525 0593 JD59Na My 15 1YH NV
So that if the husband has any 2102 claims he should come early on Thursday
to 7"*:,3 for we are concerned (if he does not marry on Wednesday) that he will
calm down and not go to 7™a.* It is evident from the X3 in M2 N3 that we are concerned for
mar (that is his 2°91n2 naww). Therefore we must say that even though we are concerned for nmar

(without 7XI0™ 0>7Y) as it appears from the X713 in M2, nevertheless we are not concerned for
TRINT 0°7Y2 Mt (as it appears from our XM3).

mooIN suggests an alternate distinction between the two n1ao:
— DI NOYWYHN “NItN NIWY UNINY NN 3907 NIANDM)

! The husband will be 7om» for her only if she may receive n"» (which can occur only 7XIN72Y 2*792), otherwise if
there is no 71n°n 2111 he will not be 7511 for the consequences are not so dire. See (however) ‘Thinking it over’ # 2.
? o»na nvw means that the husband will claim that he did not find her to be a 72102 when he was 912 her. There is
a concern that she was (17¥12) n11n after the 1"w17°p, when she is already considered an w°R nwX. If indeed that is the
case, she is 731271 5¥2% 7710K and her husband may not continue to live with her.
3 The 17 n*2 would convene on Mondays and Thursdays. So if he marries on Wednesday, he will still be passionate
about his discovery, he will go to 7"°2 on the next morning and they will instruct him what to do.
* It may be possible that he will continue to live with his wife 210°Xa.
* The marginal note indicates that the remainder is not from moown. Initially our M50 maintains that there is a
difference between 2>7va N1 and 7y X732 nar, however the following two explanations do not make this distinction.
® In 123> we are discussing when she should marry; the 7awn says that she should marry on Wednesday, because
perhaps from now (after the 1w17°p) until the wedding she may be 717.
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And it is logical to assume that there is a greater concern that perhaps she may
be 7212 (in the future), than perhaps she was already 7212 (in the past).7

noon offers an additional distinction between the two N1Tn:
— 970582 NIDAN MY LY YORN XYY IYNI NIPN IVY NYIY NIT ) DY 4N ONNT T

And additionally, there in M21n> '0n even though Mt is not 2w, nevertheless
the o101 made a mpn that she should marry on Wednesday, for they were
concerned that she should not be forbidden to him forever and he will remain
with her in a forbidden manner® -

Pnawy N91 1979 NYVPN R NN NANHM N YN XY XN DaN
However here the 0°no1 were not so concerned if really she is liable for the
death penalty and she will not be executed, since it is not common.

SUMMARY
We are ww i for Mt without aRNM 2°7v, but not for "1 >7va M. We are wwin
7ITN XY but not 701 XYW, We are concerned for a pinn wwn if it will result in an
N MoK

THINKING IT OVER

1. Mmoo states that in MmN it is an MW MK, but not here.'® Seemingly here
there can also be an n W MoK, if the husband or the 9312 (re)marry this woman
after she receives the v3."' What is the difference between the two cases?!'

2. Does the concern of 75 & apply (nowadays) when there is no mws3 172"

7 In our X7»3 he is writing a v3; the 2»on (according to >"9) are to be concerned that he is writing the va to be v 7o
MnX N3, because she already was 71m7. (It is hard to imagine that he is writing now a v because he is concerned that
she may be 7tn [see n"m1].) It is more logical to be concerned that something may happen and take the appropriate
measures in case it does happen, than to assume that something untoward actually happened and take steps to
prevent any unwanted consequences. [It is somewhat similar to what the X713 states later (2,m2) that 12°w* 1 R? nn Row
but 1w»n Mn® RAW (see n'"nl).]
¥ In a case where there may be an n"»2w 10X, the 2°»21 were concerned even for a P17 W,
? See “Thinking it over’.
1% See footnote # 8.
' She is 71291 Hy2% 0K,
' See n"mn w"wA.
13 See 1737 71"7 ®,7° '0I0 and 1¥w MK "9
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